Year 6 maths - Week Beginning 1.6.20

Fractions, decimals and

Theme Fractions Decimals Percentages of amounts Percentage change
percentages
BT Compare and order fractions | Compare and order decimals Identify what percent is shown | Confinue to practise finding Compore IS RHEEN (GO,
fluency (to h h h t f ts h decimals and percentages
aid flency) | here here here percentage of amounts here here
(Lesson 1 resources below) (Lesson 2 resources below) Lesson 3 resources below) Lesson 4 resources below) (Lesson 5 resources below)
MAKING LINKS: We learnt MAKING LINKS: Inlesson 1, we | MAKING LINKS: This year, we MAKING LINKS: Yesterday, we | MAKING LINKS: this week, we
how to calculate with learnt how to calculate with learnt how fo calculate revised how to calculate revised fractions, decimals
fractions in year 4, 5 and 6. fractions. Today we are percentages of amounts. percentages of amounts. and percentages
working with decimals. Remember to find and use
THINK: (support below) 10% and 1% to help you. THINK: (support below) THINK: (support below)
Explore these statements. THINK: (support below) The price of a meal at a
Can you prove them true or THINK: (support below) restaurant has risen by 15%. It Explore these statements. Can
false? Explore these statements. Can | George thinks that 30% of 120 | used to be £6.00. When the you prove them true or false?
| can add and subtract you prove them true or false? is easy: you just multiply the waiter brings my bill, | am cross
Problem/ fractions without finding a number 12 thirty times fo get fo see it says £10.00. Am | right | It is possible to write any
ivi common denominator Understanding place value is 360. Claire says this is not quite | to be? Explain why. decimal as a fraction and a
activity of : [
the day Recap adding fractions here really important when adding | right: you need to multiply 12 ) ) percentage.
and subtracting fractions here and subtracting decimals three times to get 36. Who is The price of lunch increased
R b Recap adding decimals here right2 Explain why. by 20%. It is now £9.60. Find Most percentages cannot be
juimitla(r:inerl To multiply fractions, you and subfracting decimals here ¢ th the old price. written as a decimal other
class, you need TQ find a common . . tatn you fr?ve efsel ” Can you prove these than hundredths.
can dfil denominator . When multiplying decimals, the | SIATEMENIS rue ortalse: statements true or false?
show the Recap multiplying fractions here | formal written method does To find percentages of Fractions where the
depth of - . not always work amounts, you can always use | In order to find percentage denominator is not a factor of
your D|V|c.J|ng. by x |sl’rhe same as Recap multiplying decimals here 10% to help you. change, you'll need draw bar | 10, 100 or 1000 cannot be
knowledae | Mulfiplying by = For example, . models that are larger than written exactly as a decimal.
9¢ 14 4=yl Multiplication facts help you to | There is often more than one 100%.
LINK 8R ' d'?/'d' 4 tractions here divide decimals by whole way to find percentages of Working out what one part of Explore fractions, decimals
ecap dividing fractions here numbeg ) o | 2;”n°;i’r:‘;5'2 Z?; E?Od”i@%‘fr;g%i 4 | the bar modelis worthis often | and percentages here and
. Recap dividing with decimals o : i here
SEE: (model be!ow) here by using 10% and 5%, or by ‘rhetl;ley o solving the -
Watch lesson video here — using 1% prooiem.
g 1. SEE: (model below)
. SEE: (model below) SEE: (model below) Watch lesson video here.
%nuesg :éng yfoousgf\],\éefhe Watch lesson video here SEE: (model be!ow) Watch lesson video here
Y Watch lesson video here DO: Use what you have leamnt
problems. .
DO: Use what you have ) DO: Use what you have today to solve the problem:s.
learned today fo solve the lD_O Usg ;NZOT yTou hloveTh learned today to solve the
problems.
Time to Day 1 resources and Day 2 resources and Day 3 resources and Day 4 resources and Day 5 resources and
check answers (below) answers (below) answers (below) answers (below) answers (below)

THINK-SEE-DO resources below
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https://uk.ixl.com/math/year-6/put-fractions-in-order
https://uk.ixl.com/math/year-6/put-decimal-numbers-in-order
https://uk.ixl.com/math/year-8/what-percentage-is-illustrated
https://uk.ixl.com/math/year-5/percent-of-a-number
https://uk.ixl.com/math/year-6/convert-between-percents-fractions-and-decimals
https://q1e.co.uk/data/dynamic/spaw/documents/How%20%20can%20I%20show%20the%20depth%20of%20my%20knowledge.pdf
https://www.mathsisfun.com/fractions_addition.html
https://www.mathsisfun.com/fractions_subtraction.html
https://www.mathsisfun.com/fractions_multiplication.html
https://www.mathsisfun.com/fractions_division.html
https://vimeo.com/421130760/8fc5aefb22
https://www.mathsisfun.com/adding-decimals.html
https://www.mathsisfun.com/subtracting-decimals.html
https://www.mathsisfun.com/multiplying-decimals.html
https://www.mathsisfun.com/dividing-decimals.html
https://vimeo.com/421130951/7363b38b78
https://vimeo.com/421037330/cc1d82531a
https://vimeo.com/421071547/2f4d280475
https://www.mathsisfun.com/decimal-fraction-percentage.html
https://www.mathsisfun.com/converting-fractions-decimals.html
https://vimeo.com/421131091/233b332899
https://vimeo.com/421131091/233b332899

DAY 1 RESOURCES:

THINK: Explore these statements. Can you prove them true or false?

| can add and subftract fractions without finding a common denominator. True or false?
To multiply fractions, you need to find a common denominator. True or false?

Dividing by x is the same as multiplying by i For example, g +4= g X %. True or false?

SEE: Addition - Recap adding fractions here or see beginning

of lesson video

T, 8,4 T
4 3 12 12 7 12
1;\3 1”\%4
T:)_z T;E

1. Find a common denominator by finding the

lowest common multiple
2. Rewrite the calculation so that both
fractions have the same denominator
3. Add the fractions (just the numerators)

4.  Make sure the answer is in its simplest form

NOTE: this is just one method. You could try others.

Subtraction - Recap subtracting fractions here or see

video
15 12 5 7
2 8 8 8 = 8
1L=£+L=if}£
2 2 2 2\\:”8

lesson

0 o B~ N

24

1. Convert any mixed number into an improper
fraction

5. Find a common denominator by finding the
lowest common multiple

2. Rewrite the calculation so that both fractions
have the same denominator

3. Find the difference (subfract) (just the
numerators)

4.  Make sure the answer is in its simplest form

NOTE: this is just one method. You could try others.

Multiplication - Recap multiplying fractions here or lesson video

2
3 5

3

1x2 2

—_—
—_—

= 15

1. Multiply the numerators together
2. Multiply the denominators fogether
3.  Make sure the answer is in its simplest form

NOTE: this is just one method. You could try others.

Division - Recap dividing fractions here or lesson video

2

- 4

1
8

o]+

1
> =

e -

S$0...

1
8

1
2

x ——
- =

1
8

1. Find an equivalent fraction with a numerator
that you can divide

2. Divide the numerator by the divisor

3.  Make sure the answer is in its simplest form

OR USE MULTIPLICATION

Dividing by 2 is the same as multiplying by a half

Dividing by 3 is the same as multiplying by a third

Dividing by 4 is the same as multiplying by a quarter

Andsoon...

DO:
Addition:
2 1 1+3_ 1+2_
376 12 4 27
1+2_ 1 5 1+ 1+1_
2 5 1t7° 210 4
31+2 = 41+31— 31+51—
5 N 6 4 8 6
Subtraction:
7 3 5 1 3 1
10 5 6 3 4 6
15 3 22 14_ 21 11_
6 4 3 9 7 2
11 1 12 3 ) i
3 2 3 4 2~
Multiplication:
1X1_ 1X1_ 1X1_
275 773" 9" 3"
1 2 1 2 1 4
- X —= - X == - X ==
6 3 475 8" 7
1x3_ 3X2_ 5X 1
6 4 579 9 715"
Division:
5‘5— 6 6= 3=
6 8 - 10 "~
6 5 8 4o 8 5
7 - 9 N 12~ °7
4 3= 6 5= > 4 =
7 - 7 - 9 -
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https://www.mathsisfun.com/fractions_addition.html
https://vimeo.com/421130760/8fc5aefb22
https://www.mathsisfun.com/fractions_subtraction.html
https://vimeo.com/421130760/8fc5aefb22
https://vimeo.com/421130760/8fc5aefb22
https://www.mathsisfun.com/fractions_multiplication.html
https://vimeo.com/421130760/8fc5aefb22
https://www.mathsisfun.com/fractions_division.html
https://vimeo.com/421130951/7363b38b78

DAY 2 RESOURCES:

THINK: Explore these statements. Can you prove them true or false? &
Understanding place value is really important when adding and subtracting decimals. True or false2 | Addition and subtraction
When multiplying decimals, the formal written method does not always work. True or false?

Multiplication facts help you to divide decimals by whole numbers. True or false? 27+1.01 = 509 +29= 0.57 +995=
SEE: Subtraction and addition Recap adding decimals here and subtracting decimals here or lesson video
2.4-0.507 = 2.4 -0.507 = 1.893 Place value knowledge is very 135+08= 1.02+23= 19+0.53=
important when adding and
wlol2 |2 w |2 | subtracting decimals 229 -1.43= 2.54-1.06= 3.11-15=
Sloee |z |t Ll5¢2 |2 |2 You may need place holders to be 6.03-004= 542_ 196 = 3_105=
1o : able to use the written method. This
241010 2 713 \&q 0 does not change the value of the
0¢510]~ 0¢5]0]7 numoer. Multiplication
+ | + 8 Cl 3 You could draw yourself a place
The place holders are in red Use a written method once the value grid and make sure the 1.01x7= 231 x3= 3.12x3 =
digits are in the correct place decimal points and places line up
Multiplication- Recap multiplying decimals here or lesson video 012x5= 0.64x2 = 425%3 =
236x3=7.08 “ N To begin with, you may want to
" o 2 |2 multiply your number by a power of
A @ L % % g 2 . 3 6 10 so that you can calculate using 213x4= 1.42x3 = 657 x2 =
2o s |t g whole numbers (without a decimal
- 1= point)
213]|6 X 3 0.53x10= 0.7x30= 0.06x20 =
”l "EI ”l Don't forget to divide the number
by the same power of ten after the
ce9 |18 calculation
7 . 0 8 Division

6+09+0.18=7.08 All your usual methods will work as
long as you apply your place value 96+3= 1005+ 5= 12.48 + 4 =
knowledge
Division- Recap dividing with decimals here or lesson video 324+2= 657 +3= 972+ 4=
- — . 98 = R e A= AE A0 = You may want to multiply your number
= = 126 +28=126+28+10=4.5+10=045
9.36 +3=3.12 by a power of 10 so that you can 6.9 +23= 204 +34= 483+21 =
" $ @ 2 2 4 .5 calculate using whole numbers (without
c| & = |3 2 25 a decimal point) 17 = =91 = ~ 138 =
3|5 E £ % 28| 126.0 , 3.91+17 7.56 +21 46.74 + 38
= i 112 .0 @exa |o Long division: Put in a place holder so
3 - . o : that you can continue calculating until . . N N
9 6 14 .0 B there is no remainder Deepening: Create a poster, reflecting on your learning which
_dl *3| _51 1470 wexos e someone could use as a revision guide
. (eerne) Challenge yourself to think of your
3 1 2 0 remainder and work out what that
would be as a decimal?
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https://www.mathsisfun.com/adding-decimals.html
https://www.mathsisfun.com/subtracting-decimals.html
https://vimeo.com/421130951/7363b38b78
https://www.mathsisfun.com/multiplying-decimals.html
https://vimeo.com/421130951/7363b38b78
https://www.mathsisfun.com/dividing-decimals.html
https://vimeo.com/421130951/7363b38b78

DAY 3 RESOURCES:

THINK

George thinks that 30% of 120 is easy: you
just multiply the number 12 thirty times to
get 360. Claire says this is not quite right:
you need to multiply 12 three times to get
36. Who is righte Explain why.

30% of 120

First, | will find 10% by

dividing by 10!

10% of 120 = 12

Now, | just need to multiply
that by 3 fo get 30%!

 12x3=36

“. Done!

30% of 120

First, | will find 10% by
dividing by 10!

10% of 120= 12

Now, | just need fo multiply
that by 30 to get 30%!
C- 12x 30 = 340.

Can you prove these statements true or
false?

To find percentages of amounts, you can
always use 10% to help you.

Finding a percentage of an amount is the
same as finding a fraction of an amount.
For example, 25% of 100 is the same as 4 of 100.

SEE:

Start by drawing a bar model, representing 100% or 1 whole. Divide your bar model into 10
equal pieces, which each represent 10%.

10% 10% 10% 10% 10% 10% 10% 10% 10% 10%

Next, show that 100%, or the whole, is 120 (as you can see in the question)

10% 10% 10% 10% 10% 10% 10% 10% 10% 10%

120

Work out that 10% of 120 = 12. The way you do this is by dividing 120 by 10= 12
12

y
/ 10% | 10% | 10% | 10% | 10% | 10% | 10% | 10% | 10%

/i

120

To find 30%, shade 3 of the boxes. Each box is worth 10%, which is 12 in this example.
Multiply 12 by 3 to get 36. So 30% of 120 is 36.

36
m
12 12 12
j///y 10% | 10% | 10% | 10% | 10% | 10% | 10%
v

120

DO:

Solve these questions about percentages of amounts:
1.) 10% of 50 = 5.) 15% of 60 =
2.) 30% of 120 = 6.) 25% of 130 =
3.) 60% of 3000 = 7.) 63% of 520 =
4.) 70% of 650 =

8.) 76% of 125 =

The table below shows what activity children enjoyed most during
lockdown. A total of 500 children were surveyed.

Type of activity Percentage
Reading 35%
Going to the park 10%
The Great 8 Challenge | 55%

1.) How many children liked reading most?

2.) How many children liked going to the park most?

3.) What is the difference in the number of children who liked reading
and the number of children who liked the Great 8 Challenge?

Solve these questions. Show your working.

1.) A shop sells 200 chocolate, vanilla and strawberry ice cream. 42 of
the ice creams sold are vanilla, and Y4 are strawberry. What
percentage are chocolate?

2.) In a fruit survey, 300 children chose their favourite fruit out of
apples, bananas and watermelon. 150 chose apples and 90 chose
bananas. What number chose watermelon? What percentage
chose watermelon?

3.) Out of the 250 million cars on the road in the UK, about 1/25 are
red.
a. What percentage was red?
b. How many are red?
c. What percentage is not red?
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DAY 4 RESOURCES:

THINK:

The price of a meal at a restaurant has risen by 15%. It used to be £6. When the waiter
brings my bill, | am cross to see it says £10.00. Am | right to be?2 Explain why.

The price of lunch increased by 20%. It is now £9.60. Find the old price.

Can you prove this statements true or false?
In order to find percentage change, you'll need draw bar models that are larger than
100%.

SEE:

Start by drawing a bar model with 10 equal pieces that represents 100%, or the old
price of £6.00.

10%

\-—'——_*

10% 10% 10% 10% 10% 10%

£6.00

Because the 15% is an increase, add on a couple of bars to represent 15% (One to
represent 10%, and one that is half that size, to represent 5%)

10%

\-—‘—-_———_

10% | 10% | 10% | 10% | 10% | 10% | 10%

__——--'-/

10% | 10% 10% = 5%

£6.00

Work out what 10% of £6.00 is by dividing £6 by 10, which is 60p. Then you can put
that value on all of the pieces of the bar that are worth 10%. To work out 5%, half 10%.
Half of 60p is 30p.

£0.6 £0.6 £0.6 £0.6 £0.6 £0.6 £0.6 £0.6 £0.6 £0.6 £0.6 £0.3
I

/% 10% | 10% | 10% | 10% | 10% | 10% | 10% | 10% | 10% 10% = 5%
\._________ 4_____’/

£6.00

Finally, you can add the original amount (£6) to the additional 15% (60p and 30p).
£6 +£0.6 + £0.3 = £6.9. Therefore, we know the bill is incorrect. After a 15% price
increase, the new price should be £6.90, not £10.

For this type of question, “The price of lunch increased by 20%. It is now £9.60. Find
the old price” remember your bar model will include the additional 20%.

120 % (or 12 bars) is £9.60. Use this to help you find 1 bar and then the original
price (10 bars or 100%)

DO:

Dra
pro

w bar models and show your working to solve the following
blems:

1.) Sally wants to increase the price of the food in her café by 20%.
Find the new prices of these items.

2.) The price of a concert ticket has increased by 10%. The new
price is £220. What was the price of the ticket before the price
rosee¢

3.) The price of a necklace has increased by 50%. It is now worth
£450. What was the original price of the necklace?

4.) The number of pupils in a school has increased by around 10%
every year since 2015. In 2016, the number of pupils was 220.

How many children were there in 2017¢
How many children were there in 2018¢
How many children were there in 20192
Work out how many children there were in 2015.

0noo

Deepening:

1.) Write your own question like the ones above to calculate
percentage change, if the answer is £30.

2.) Explain, in a step-by-step guide for a Year 5 child, how you
calculate change and solve questions like Question 4a.
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DAY 5 RESOURCES:

THINK: Explore these statements. Can you prove them true or false?

It is possible to write any decimal as a fraction and a percentage. True or false?

Most percentages cannot be written as a decimal other than hundredths . True or false?
Fractions where the denominator is not a factor of 10, 100 or 1000 cannot be written exactly
as a decimal. True or false?

;EE: Explore fractions, decimals and percentages here and here or see lesson video

[7)] E % - percent means out of 100
2} g < 3 £ - 30 /100 means 30 out of 100
g c % 2 % -30/100 is 30 %
— O @ ~ 2 £ / \
0 ? 3 0.3 =3/10 =30/100 = 30%
» E _.::f - percent means out of 100
n % = 3 g - 5/100 means 5 out of 100
c = o] 0 - 5100 is 5 %
c c e 3
-9 @] [ ) 2 E 5:? / \
Oe Q0|5 |—— 0.05=5/100=5%
in its simplest form
5— = 1 /
100 720 -
- percent means out of 100 @ E
#lenths = 0.4 - 40 /100 means 40 out of 100 7] £ s
_ » N c 3 c
- 40/100 is 40% @ = o o
- c C - 2
L1542 |5 |¢
@ — | = =
2 4 40
5 10 100 0 ?4]0

‘.,!«{|l||r,“".'

10C

3.Is 1.8 is greater than 1;—(7)? Explain your answer

4. Fill in the missing values

Deepening

Complete the missing information using
a decimal and a percentage.
Can you find more than one solution?

1_ 75% -D— 3 tenths

4

40% = %+D + )

Complete the part whole model. How

many different ways can you complete
it?

o E/"I (o)
(A
Iﬂw‘;"x . 1‘-‘_3,) —

Can you create your own version with
different values?
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https://www.mathsisfun.com/decimal-fraction-percentage.html
https://www.mathsisfun.com/converting-fractions-decimals.html
https://vimeo.com/421131091/233b332899

ANSWERS:

Lesson 1 Answers Lesson 2. Answers
Addition:
2, 1_5 13105 1,2_1
3 6 6 12 4 12 6 2 7 14 Adding and subtracting
1 2 9 1 5 27 1 1 1 17
2755 1 277738 >t 1072 20 2.7 +1.01 =3.71 509 +29=7.99 0.57 +9.95=10.52
_ 1 1 5 i .1 7 1.35+0.8=2.15 1.02+23=3.32 1.9 +0.53=2.43

3z+25=53; 4o+ 37=73 3g+ 5= 8-

2.29-1.43=0.86 2.54-1.06=1.48 3.11-1.5=1.61
Subtraction
7 3 1 5 1 3 1 31 7 - — —
0 35° 10 27 3°%7 3 17 8°12 6.03-0.04=5.99 542-196=3.46 3-125=1.75
15 3_11 5 _12 ) )
6 4 12 3 79 9 7 T2 14
11 T 5 12 11 12 11 Multiplication
3 2 6 374 12 772 14

1.01x7=7.07 231x3=6.93 3.12x3=9.36
Multiplication:
1 1 1 1 1 T 1 1 0.12x5=0.6 0.64x2=1.28 425x3=12.75
275 10 773721 973727
T2 7 1 7 7 N 2.13x4=8.52 1.42x3=4.26 657 x2=13.14
63" 18 9 2557200 10 8 7756 14

0.53x10=53 0.7 x 30 =21 0.06x20=12
1_3 3 1 3 2 6 5_1 5 1
62”24 38 5%97 45 15 9 715 135 27
1 5 5 1 2 7 14 2 1_9 9
575377 7598 9 3510730 10 Division
Division: 9.6+3=3.2 10.05+5=2.01 1248 +4=23.12
5 1 6 1 9 3
753 g 76=3 07310 324+2=1.62 6.57+3=12.19 972+ 4=2.43
6.2_3 8 4_2 8 S & 6.9+23=03 2.04 +34=0.06 483+21=0.23
777 9 """ 9 12 °7 1273

391+17=0.23 7.56 +21=0.36 46.74+38=1.23
ot 6 ._0 5 _,_0
777 21 777735 9 7" 36
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Day 3 Answers

Solve these questions about percentages of amounts:
5) 10%0f50=5 9.) 15%0f 60=9

6.) 30% of 120 = 36 13 pa % s
7.) 60% of 3000 = 1800 10) ool
8.) 70% of 650 = 455 ) 63% 0 = 327.
' 12) 76% of 125 = 95

The table below shows what activity children enjoyed most
during lockdown. A total of 500 children were surveyed.

Type of activity Percentage
Reading 35%
Going fo the park 10%
The Great 8 Challenge 55%

4.) How many children liked reading moste¢ 175 children

5.) How many children liked going to the park moste 50
children

6.) Whatis the difference in the number of children who
liked reading and the number of children who liked the
Great 8 Challenge?
Reading: 175. Great 8: 275. Difference: 100

Solve these questions. Show your working.

4.) A shop sells 200 chocolate, vanilla and strawberry ice
cream. 42 of the ice creams sold are vanilla, and 4 are
stfrawberry. What percentage are chocolate? 54% are
chocolate.

5.) In afruit survey, 300 children chose their favourite fruit
out of apples, bananas and watermelon. 150 chose
apples and 90 chose bananas. What number chose
watermelon¢ What percentage chose watermelon?2
60 children or 20% chose watermelon.

6.) Out of the 250 million cars on the road in the UK, about

1/25 are red.
a. What percentage were red? 1/25=4/100 =
4%.

b. How many are red? 10 million are red
c. What percentage are not red? 96% are not
red

Day 4 Answers

Draw bar models and show your working to solve the
following problems:

1.) Sally wants to increase the price of the food in her
café by 20%. Find the new prices of these items.
£2.00 >£2.40 £3.00 > £3.60 £6.00 > £7.20

2.) The price of a concert ticket has increased by 10%.
What was the price of the ticket before the price
rose? £200.

3.) The price of a necklace has increased by 50%. It is
now worth £450. What was the original price of the
necklace? £300.

4.) The number of pupils in a school has increased by
around 10% every year since 2015. 1n 2016, the
number of pupils was 220.

d. How many children were there in 20172 242
b. How many children were there in 20182 266
c. How many children were there in 20192 293
d. Work out how many children there were in
2015. 200
Deepening:

1.) Write your own question like the ones above to
calculate percentage change, if the answer is £30.
Answers will vary

2.) Explain, in a step-by-step guide for a Year 5 child, how
you calculate change and solve questions like Question
4q.

Answers will vary

Step 1: Read the question carefully, identifying key
information.

Step 2: Draw a bar model with 10 equal parts, these parts
will represent 10%, adding up to make 100%.

Step 3: Show the total amount e.g. 220, to be the same
as 100%.

Step 4: Draw an exfra bar onto your bar model fo make it
110%.

Step 5: Identify what one part of the bar is by dividing 220
by 10 (10%). Put this number in each section.

Step 6: Add up the sections to work out the new amount.

Day 5 Answers

1.
38 -0.088
1000
2.
2 <0.55<57%<61% < 0.62 <. <21
10 25 50

3

12 =12 = 1.85 which is greater than 1.8
20 100

OR
1.8 = 12% which is less than 122
20 20

4,
a) 65%

b) 0.36
5

1000

Deepening

Complete the missing information using | Possible answers:

a decimal and a percentage.

Can you find more than one solution? 1.0.2 or 20%
1
—=75% — — 3 tenths 2.01 and 10%
* D 0.05 and 15%
0.01and 19%

40% = é+D +[:]

Complete the part whole model How

many different ways can you complete
it?

A=03,30% or—
10

2
— Le T

B=0.2 20%, o

1
100w 3
{ a7 |}
C=01,10% or =
Can you create your own version with 10
different values?
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